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3agaum 115l CaMOCTOSITEJILHOTO peUICHUsA

Haiitu HeonpenenéHHblEe HHTErpabl:

1-2x

1. J‘gdx. OrtBeT: —lx—lln|4x 3|+C(x¢ 3).
4x-3 2 8 4
2. jﬂd OrBer: gx+élnx+ (x:t—zj.
3x+2 3 9 3
3. J‘zL OTBeT: —ln 3x+1 ( ¢——,—1).
3x" +4x+1 3x+3
dx 1. |x+5
4. Jm OTBeT: —lnx_3 +C (x¢—5 3)
dx x+2
). o1 -3;-2).
5 I(x+2)(x+3) Otser nx+3+C(x¢ )
4
6. J‘M Orser: lln(x_—l) +C (x¢—2;1).
(x+2)x-1) x+2

7. J‘% Otser: In i/(x - l)2 (x + 4)8 +C (x=-41).
8. J.Zx;l Orser: Lln(sz +2x+ 1)+ gar‘ctg Sx+1 +C.
5x° +2x+1 10 5
9. JZSX—H x.  Ortser: éln(x2 +10x + 29)— 1 1arctgx—+5 +C.
x” +10x+29 2 2
T
10. j(x - 1)10 dx . Orsger: % +C.
11. J‘% Otser: %(1 - 3x)_29 +C (x # %)
x’dx
12. I 100 :
Otsert: _ - 3 _ 3 - 1 x#1).
e 9(x-1)"  98(x—1""  97(x-1)" 96(x-1)" relez1)

13. I(2x +3)(1-x)dx.
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Orger: —i(l—x)lI +2(1—x)'0 —2—95(1—x)9 +C.

11
2 2
14. jx +11 dx. Orser: (x+l) —2x+21n|1+x|+C(x¢—1).
X+
dx 1 x 3
15. J.m Orser: —;—m—zarctgx+c (x;tO).
t6. (X1 goomen—— L 3 51Xl o (cpay).
oy o T ) M P P M
x’dx
17 f———. Otser: In|x + 1|+ +C (x#-2;-1).
'[(x+2)2(x+1) meer: Inpe-+ X +2 ( )
18~I & . omenlily (eo1) +Larcth+C (x = 0;1).
x° —x? x 6 xP+x+1 \/5 \/5
19. J xdx . Orser: lln x -1 —larctg(x2)+c (x;til).
x* -1 8 |x*+1] 4
x’—2x 3 1
20. Imdx. Ortser: a1 +51n(x2 +l)+C.
2
21. x—dxz OTBCTI%-I-GFCtg(X-l‘I)-FC.
(x2+2x+2) XT+2x+2

2 [ ¥*+2
j(x2+2x+10)2 g

ommets 2x? +;x+ 10) 18(xzi+2jc+ 10) 5L4amng+1+ <
23, '[(xzij;—:j-S)de. Oreer: WJF %arctg ";1 ‘C.
2. | (xchz)B - Omen (xzt 7 32(jf+ oM 3f arctg%+c.
25, J‘(xficl)z. Orser: 4(xf+1)+%(4\1/§ ln); : §:i+

2\1/5 (arctg(x 2+ 1)+ arctg(xx/E - 1)))+ C.

+
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x*+1 1 1 2x* -1 217
26. j dx. OTBengarctgx3 +ﬁarctg 7 + %m—x(f_:zl)_’_l.,.c

1
x4 1 Ortser: arctgx + 3 arctg()c3 )+ C.

27.

x+1

28. ﬁ)dx . OtBer: ln|x| - %ln(l +x’ )2 +C (x # 0;—1).

2. ,[ x*+2 Otser: In (x—l)(x+2)\+c (x # -2;01).
x* +x? —2x X
30. I —x+2 ' OTBeT: llnmz_) C (x¢—2;—1;1;2).
x* = 5x +4 3 |(x-1)x+2)
3. [ X F2XH6 Omer: 1p/ =) (x=4)" 1:2:4).
'[(x—l)(x—2)(x—4) ) e n (x-2) #e ()

B

4x* +4x-11 1 ‘(2x—1)2(2x—5)3|
32. dx .OTBeT: _ _2.
I(zx—lx2x+3)(2x—5) T e +C[X¢ ’

1. J~ x+4
X +6x*+11x+6

N | w

N | —
N |

)

Orser: > ln|x +1|-2Inx + 2| + %ln|x +3)+C (x = -3-2;-1).

X +4x*+6

x+l ix +25

Orger: Eln|x +1] —% + %ln(x + 2)— garctgﬁ+ C (x=-1).

35. Iz’)‘_"'zl)zdx. Ortser: lnlx‘—%ln(l+x2)+i%)+%arctgx+C.

36. J- x +1
x* —8x? +16

Otser: x__ 33 127 ln|x 2' 31 129
(x+2)

= ln|x+2\+C x# 12
2 16(x—2) 32



